

# G OPEN ACCESS

**Citation:** Deng C-Y, Ke X-P, Guo X-G (2024) Dietary calcium, phosphorus, and potassium intake associated with erectile dysfunction in the National Health and Nutrition Examination Survey (NHANES) 2001 to 2004. PLoS ONE 19(2): e0297129. https://doi.org/10.1371/journal. pone.0297129

Editor: Amir Hossein Behnoush, Tehran University of Medical Sciences, ISLAMIC REPUBLIC OF IRAN

Received: August 30, 2023

Accepted: December 28, 2023

Published: February 21, 2024

**Copyright:** © 2024 Deng et al. This is an open access article distributed under the terms of the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original author and source are credited.

Data Availability Statement: All relevant data are within the manuscript and its Supporting Information files.

**Funding:** The author(s) received no specific funding for this work.

**Competing interests:** The authors have declared that no competing interests exist.

RESEARCH ARTICLE

# Dietary calcium, phosphorus, and potassium intake associated with erectile dysfunction in the National Health and Nutrition Examination Survey (NHANES) 2001 to 2004

### Chen-Yuan Deng<sup>1,2</sup>, Xin-Peng Ke<sup>2</sup>, Xu-Guang Guo<sup>1,2</sup>\*

1 Department of Clinical Laboratory Medicine, Guangdong Provincial Key Laboratory of Major Obstetric Diseases, Guangdong Provincial Clinical Research Center for Obstetrics and Gynecology, The Third Affiliated Hospital of Guangzhou Medical University, Guangzhou, China, **2** Department of Clinical Medicine, The Third Clinical School of Guangzhou Medical University, Guangzhou, China

\* gysygxg@gmail.com

# Abstract

## Background

Erectile dysfunction is now a common disorder of sexual function, and its relationship to dietary calcium, phosphorus, and potassium has not been well studied. We set out to determine if dietary intakes of calcium, phosphorus, and potassium are related to erectile dysfunction in U.S. men.

### Methods

For this cross-sectional investigation, we used data from NHANES 2001–2004. To investigate the connection of dietary calcium, phosphorus, and potassium intake with erectile dysfunction, we employed multivariate logistic regression, smoothed curve fitting, and subgroup analysis.

## Results

This cross-sectional study comprised 3,556 eligible male subjects in total, with a weighted mean age of 49.93±18.13 years. After controlling for race and age, the greatest tertile of calcium consumption was found to have a 34% lower risk of erectile dysfunction than the lowest tertile (OR = 0.66; 95% CI = 0.52–0.84; p = 0.0006). The risk of erectile dysfunction was found to be reduced by 33% (OR = 0.67; 95% CI = 0.52–0.87; p = 0.0024) for the highest tertile of phosphorus intake compared to the lowest tertile of phosphorus intake and by 35% (OR = 0.65; 95% CI = 0.50–0.83; p = 0.0006) for the highest tertile of potassium intake compared to the lowest tertile of potassium intake in the fully adjusted model.

# Conclusion

Erectile dysfunction and dietary consumption of calcium, phosphorus, and potassium are inversely associated with the U.S. population. To confirm the accuracy of our findings, additional prospective studies are necessary. Furthermore, it is imperative to do further

fundamental research at the molecular level to gain a deeper understanding of the underlying mechanisms.

### 1. Introduction

One of the most prevalent illnesses affecting men is erectile dysfunction, which is both an organic and a psychological condition. Couples' quality of life is affected, in addition to the patient's emotional difficulties [1]. The inability to obtain or maintain an erection strong enough for satisfying sexual performance is known as erectile dysfunction [2]. Approximately 180,000 males in the United States today experience erectile dysfunction, according to statistics that are not complete [3]. There is mounting evidence that erectile dysfunction is developing at younger ages [4]. Diabetes and cardiovascular disease are two main risk factors for erectile dysfunction. Endothelial dysfunction, inflammation, and low plasma testosterone levels are all pathophysiological characteristics that are shared by erectile dysfunction and cardiovascular disease. Erectile dysfunction is regarded as an early sign of subclinical vascular disease [5,6].

Common nutrients like calcium, phosphorus, and potassium are included in almost all of our daily meals. Increased potassium intake lowers the risk of cardiovascular disease as well as the incidence of stroke, demonstrating the strong connection between dietary potassium and cardiovascular health [7]. The impact of supplemental calcium and phosphorus on cardiovascular outcomes, however, is still debatable [8,9]. Therefore, further research is needed to determine how calcium, phosphorus, and potassium intake affect erectile dysfunction.

This cross-sectional study investigated the associations of calcium, phosphorus, and potassium intake with erectile dysfunction using information from the National Health and Nutrition Examination Survey (NHANES) conducted between 2001 and 2004. We predicted that associations of calcium, phosphorus, and potassium intake with erectile dysfunction would be detrimental.

### 2. Methods

#### 2.1 Sources of data and samples

All data in this analysis were obtained from NHANES, a cross-sectional survey of the U.S. population conducted on a 2-year cycle by the National Centre for Health Statistics (NCHS). This survey collects information for the study of a variety of diseases and elements of life health. And our study used a stratified multistage probability sampling procedure, so the sample included was well represented [10]. The NCHS Ethics Review Board cleared human subjects for NHANES, and all participants provided signed informed consent.

Data from the five NHANES cycles 2001-2004 were selected for this investigation because complete data on calcium, phosphorus, potassium intake, and erectile dysfunction were only available for these two cycles, and a total of 21,161 subjects were initially included. Women (n = 10,860), people lacking information on erectile dysfunction (n = 4,810), people lacking information on calcium, phosphorus, and potassium intake (n = 1,616), and people lacking information on covariates (n = 519) were all eliminated. In the end, 3,556 individuals participated in this cross-sectional study (Fig 1).

#### 2.2 Exposing variables and ending variable definitions

Calcium, phosphorus, and potassium consumption were classified as exposure variables. Calcium, phosphorus, and potassium intake included dietary supplements as well as total nutrient



Fig 1. Flowchart of the sample selection from NHANES 2001–2004. NHANES: National Health and Nutrition Examination Survey.

https://doi.org/10.1371/journal.pone.0297129.g001

intake. A total of two 24-hour food recall interviews were open to everyone. A mobile examination center (MEC) conducted the initial dietary recall interview in person. Three to ten days later, the interview was conducted by phone [11].

Erectile dysfunction was the ending variable. The Audio Computer Assisted Self Interview (ACASI) was used to assess erectile dysfunction. "Ability to maintain an erection (KIQ400)." If the individual answered "Always or almost always able" or "Usually able," he was regarded to be erectile dysfunction-free. The subject was diagnosed with erectile dysfunction if the answer was "Sometimes able" or "Never able."

### 2.3 Covariates

Age (years), race (Mexican American/Other Hispanic/Non-Hispanic White/Non-Hispanic Black/Other Race), education level (Less than high school/High school/More than high school), marital status (Married/Living with partners, Widowed/Divorced/Separated, Never married), income-to-poverty ratio (PIR), alcohol use (Yes/No), smoking (Yes/No), physical

activity (Yes/No), hypertension (Yes/No), diabetes (Yes/No), body mass index (BMI) (kg/m<sup>2</sup>), total cholesterol (mg/dL), and high-density lipoprotein (HDL) (mg/dL) were all included as covariates in this study to reduce the influence of potential factors on the relationships between exposure variables and outcome variables [12,13]. The complete measurement methods for these variables are all accessible to the public at https://www.cdc.gov/nchs/nhanes/.

#### 2.4 Statistical analysis

The Centers for Disease Control and Prevention (CDC) guidelines provided guidance for the statistical analysis of this study. The statistical analyses for this study were guided by the CDC recommendations, and we took into account the weighting of the NHANES sample collection during the analyses. To compare participant differences between those with and without erectile dysfunction, weighted Student's t-tests for continuous variables and weighted chi-square testing for categorical variables were utilized. In each of the three models, multifactorial logistic regression models were used to investigate the associations of calcium, phosphorus, and potassium consumption with erectile dysfunction. Model 1 is a crude model that does not adjust for any of the covariates. Model 2 adjusts for age and race. And Model 3 adjusts for all covariates that were included in this study, which is a fully adjusted model. Additionally, subgroup studies of the relationships of calcium, phosphorus, and potassium consumption with erectile dysfunction 4.1.3) and EmpowerStats (version 2.0) are statistical computations and graphics programs that were used to conduct the study. And p < 0.05 was considered statistically significant.

### 3. Results

#### 3.1 Baseline characteristics of participants

This study comprised 3,556 eligible patients with a mean age of  $49.93\pm18.13$  years, including 2,411 who did not have erectile dysfunction and 945 who did. The weighted mean calcium, phosphorus, and potassium intakes were  $925.28\pm599.15$  mg,  $1487.04\pm692.09$  mg, and  $3017.88\pm1336.68$  mg, respectively. Age, race, education level, marital status, PIR, physical activity, alcohol use, smoking, hypertension, diabetes, BMI, total cholesterol, and high-density lipoprotein all showed statistically significant differences among those with and without erectile dysfunction (all p < 0.05) (Table 1).

# 3.2 Association of calcium, phosphorus, and potassium consumption with erectile dysfunction

When considered as a continuous variable, the relationships of calcium, phosphorus, and potassium intake with erectile dysfunction are shown in <u>S1 Table</u>. Upon adjusting for all potential confounders, we discovered that while there were statistically significant correlations of calcium (OR = 0.9998; 95% CI = 0.9996–1.0000; p = 0.047), phosphorus (OR = 0.9998; 95% CI = 0.9996–0.9999; p = 0.005), and potassium intake (OR = 0.9998; 95% CI = 0.9998–0.9999; p<0.001) with erectile dysfunction, the effects were weak. Consequently, we went one step further and transformed the continuous variable of calcium, phosphorus, and potassium intake into a categorical variable (tertiles).

The association between tertiles of calcium intake and erectile dysfunction is displayed in Table 2. In the crude model, calcium consumption is found to be inversely correlated with erectile dysfunction, with a 55% reduction in the incidence of erectile dysfunction in the highest tertile of calcium intake compared to the lowest tertile of calcium intake (OR = 0.45; 95%

	Total (n = 3 556)	No ED (n = 2 411)	ED (n = 945)	P-value
Age (years)	$49.93 \pm 18.13$	43.78 ± 15.39	$65.62 \pm 14.86$	< 0.001
PIR	2.86 ± 1.60	2.95 ± 1.61	2.62 ± 1.54	< 0.001
BMI (kg/m^2)	$28.08 \pm 5.42$	$27.91 \pm 5.28$	28.51 ± 5.75	0.012
Total cholesterol (mg/dL)	$200.47 \pm 44.95$	$201.71 \pm 44.64$	197.31 ± 45.62	0.002
High-density lipoprotein (mg/dL)	47.44 ± 12.99	47.42 ± 13.01	47.50 ± 12.96	0.825
Calcium intake (mg)	925.28 ± 599.15	977.68 ± 631.86	791.60 ± 481.28	< 0.001
Phosphorus intake (mg)	$1487.04 \pm 692.09$	1568.44 ± 727.93	1279.36 ± 538.02	< 0.001
Potassium intake (mg)	3017.88 ± 1336.68	3135.29 ± 1394.35	2718.32 ± 1123.17	< 0.001
Race				< 0.001
Mexican American	666 (19.85%)	485 (20.12%)	181 (19.15%)	
Other Hispanic	115 (3.43%)	80 (3.32%)	35 (3.70%)	
Non-Hispanic White	1882 (56.08%)	1307 (54.21%)	575 (60.85%)	
Non-Hispanic Black	590 (17.58%)	455 (18.87%)	135 (14.29%)	
Other Race	103 (3.07%)	84 (3.48%)	19 (2.01%)	
Education level				< 0.001
Less than high school	891 (26.55%)	529 (21.94%)	362 (38.31%)	
High school	834 (24.85%)	632 (26.21%)	202 (21.38%)	
More than high school	1631 (48.60%)	1250 (51.85%)	381 (40.32%)	
Marital status				< 0.001
Married/Living with partners	2377 (70.83%)	1661 (68.89%)	716 (75.77%)	
Widowed/Divorced/Separated	448 (13.35%)	279 (11.57%)	169 (17.88%)	
Never married	531 (15.82%)	471 (19.54%)	60 (6.35%)	
Alcohol use				0.033
Yes	2777 (82.75%)	2016 (83.62%)	761 (80.53%)	
No	579 (17.25%)	395 (16.38%)	184 (19.47%)	
Hypertension				< 0.001
Yes	1049 (31.26%)	550 (22.81%)	499 (52.80%)	
No	2307 (68.74%)	1861 (77.19%)	446 (47.20%)	
Diabetes				< 0.001
Yes	345 (10.28%)	124 (5.14%)	221 (23.39%)	
No	3011 (89.72%)	2287 (94.86%)	724 (76.61%)	
Smoking				< 0.001
Yes	1995 (59.45%)	1332 (55.25%)	663 (70.16%)	
No	1361 (40.55%)	1079 (44.75%)	282 (29.84%)	
Physical activity				<0.001
Yes	1980 (61.05%)	1518 (64.00%)	462 (53.04%)	
No	1263 (38.95%)	854 (36.00%)	409 (46.96%)	

Table 1. Baseline characteristics of the study population based on the presence or absence of erectile dysfunction.

PIR, income- to- poverty ratio; BMI, body mass index.

https://doi.org/10.1371/journal.pone.0297129.t001

CI = 0.37-0.55; p < 0.0001). Even in Model 2, this relationship was maintained (OR = 0.66; 95% CI = 0.52-0.84; p = 0.0006). But in Model 3, the *p*-trend is more than 0.05.

Table 3 shows the connection between tertiles of phosphorus intake and erectile dysfunction. Phosphorus consumption was related to erectile dysfunction adversely in all three models. In Model 3, the risk of erectile dysfunction was statistically significantly reduced by 33% in the greatest phosphorus intake tertile compared to the lowest phosphorus intake tertile

Exposure	OR (95%CI), P-value			
	Model 1	Model 2	Model 3	
Calcium intake tertiles				
T1 (23-605 mg)	1.00 (Reference)	1.00 (Reference)	1.00 (Reference)	
T2 (605.5–1,021 mg)	0.70 (0.59, 0.84) 0.0001	0.71 (0.57, 0.88) 0.0020	0.83 (0.65, 1.05) 0.1136	
T3 (1,022-8,701 mg)	0.45 (0.37, 0.55) <0.0001	0.66 (0.52, 0.84) 0.0006	0.77 (0.60, 0.99) 0.0453	
p-trend	<0.0001	0.0008	0.0523	

#### Table 2. Relationship between tertiles of calcium intake and erectile dysfunction.

Model 1: Crude mode.

Model 2: Adjusted for age and race.

Model 3: Adjusted for age, race, education level, marital status, income-to-poverty ratio (PIR), alcohol use, smoking, physical activity, hypertension, diabetes, body mass index (BMI), total cholesterol, and high-density lipoprotein (HDL).

https://doi.org/10.1371/journal.pone.0297129.t002

(OR = 0.67; 95% CI = 0.52–0.87; *p* = 0.0024). Between T1 and T2, there was, however, no statistical difference (OR = 0.88; 95% CI = 0.70–1.10; *p* = 0.2657).

The correlation between tertiles of potassium intake and erectile dysfunction is shown in Table 4. Potassium intake was changed from a continuous variable to a categorical variable (tertiles) for sensitivity analysis. In fully adjusted models (Model 3), the highest tertile of potassium consumption was found to significantly reduce the risk of having erectile dysfunction by 35% when compared to the lowest tertile of potassium intake (OR = 0.65; 95% CI = 0.50–0.83; p = 0.0006).

Additionally, the correlations between calcium, phosphorus, and potassium consumption with erectile dysfunction were visualized using the results of smoothed curve fitting, and we were unable to detect a non-linear association (Fig 2).

#### 3.3 Subgroup analysis

We used stratified weighted multivariate regression analyses to conduct subgroup analyses stratified by age, race, BMI, hypertension, and diabetes in order to further investigate the relationships of calcium, phosphorus, and potassium consumption with erectile dysfunction in various populations.

#### Table 3. Relationship between tertiles of phosphorus intake and erectile dysfunction.

Exposure	OR (95%CI), <i>P</i> -value			
	Model 1	Model 2	Model 3	
Phosphorus intake tertiles				
T1 (84–1,137.5 mg)	1.00 (Reference)	1.00 (Reference)	1.00 (Reference)	
T2 (1,138–1,647 mg)	0.69 (0.58, 0.82) <0.0001	0.81 (0.65, 1.00) 0.0537	0.88 (0.70, 1.10) 0.2657	
T3 (1,648–8,194 mg)	0.33 (0.27, 0.40) <0.0001	0.62 (0.49, 0.79) 0.0001	0.67 (0.52, 0.87) 0.0024	
<i>p</i> -trend	<0.0001	0.0001	0.0024	

Model 1: Crude mode.

Model 2: Adjusted for age and race.

Model 3: Adjusted for age, race, education level, marital status, income-to-poverty ratio (PIR), alcohol use, smoking, physical activity, hypertension, diabetes, body mass index (BMI), total cholesterol, and high-density lipoprotein (HDL).

https://doi.org/10.1371/journal.pone.0297129.t003

Exposure	OR (95%CI), <i>P</i> -value		
	Model 1	Model 2	Model 3
Potassium intake tertiles			
T1 (183–2,353 mg)	1.00 (Reference)	1.00 (Reference)	1.00 (Reference)
T2 (2,354–3,357 mg)	0.74 (0.62, 0.88) 0.0008	0.78 (0.62, 0.97) 0.0243	0.77 (0.61, 0.98) 0.0332
T3 (3,359–13,969 mg)	0.48 (0.40, 0.58) <0.0001	0.60 (0.47, 0.75) <0.0001	0.65 (0.50, 0.83) 0.0006
<i>p</i> -trend	<0.0001	<0.0001	0.0007

#### Table 4. Relationship between tertiles of potassium intake and erectile dysfunction.

Model 1: Crude mode.

Model 2: Adjusted for age and race.

Model 3: Adjusted for age, race, education level, marital status, income-to-poverty ratio (PIR), alcohol use, smoking, physical activity, hypertension, diabetes, body mass index (BMI), total cholesterol, and high-density lipoprotein (HDL).

https://doi.org/10.1371/journal.pone.0297129.t004



**Fig 2. Smoothed curve fitting for calcium, phosphorus, potassium intake, and erectile dysfunction.** (A) Smooth curve fitting between calcium intake and erectile dysfunction; (B) Smooth curve fitting between potassium intake and erectile dysfunction; (C) Smooth curve fitting between phosphorus intake and erectile dysfunction.

https://doi.org/10.1371/journal.pone.0297129.g002

Subgroup analysis	OR (95%CI)		p for interaction
Age (years)			0.0201
20-39	0.9993 (0.9987, 0.9998)	<b>⊢</b>	
40-59	1.0000 (0.9998, 1.0003)	<b>⊢</b>	
60-85	0.9996 (0.9993, 0.9999)	<b>→→</b>	
Race			
Mexican American	0.9996 (0.9991, 1.0000)	<b>└──</b> ◆──	0.3481
Other Hispanic	1.0003 (0.9995, 1.0012)	⊧t	
Non-Hispanic White	0.9999 (0.9996, 1.0001)	<b>⊢</b> →I	
Non-Hispanic Black	0.9994 (0.9987, 1.0001)	<b>⊢</b> +	
Other Race	0.9992 (0.9975, 1.0010)	<b>⊢</b>	
BMI (kg/m^2)			0.9877
16.01-25.62	0.9998 (0.9995, 1.0001)	<b>⊢_</b> →4	
25.63-29.41	0.9998 (0.9994, 1.0001)	F◆	
29.43-64.97	0.9998 (0.9995, 1.0002)	<b>⊢_</b> →1	
Hypertension			0.2437
Yes	1.0000 (0.9996, 1.0003)	<b>⊢</b> -1	
No	0.9997 (0.9995, 1.0000)	⊢	
Diabetes			0.4903
Yes	1.0000 (0.9994, 1.0005)	F	
No	0.9998 (0.9996, 1.0000)	⊷.	
		0.997 0.998 0.999 1 1.001 1.002	



https://doi.org/10.1371/journal.pone.0297129.g003

Fig 3 depicts a subgroup analysis of the association between calcium consumption and erectile dysfunction, in which we found a significant interaction at age (p for interaction<0.05). At the same time, this correlation was unaffected by race, BMI, hypertension, or diabetes, while the negative association between calcium consumption and erectile dysfunction persisted in Mexican Americans with no hypertension or diabetes.

A subgroup analysis of the relationship between phosphorus intake and erectile dysfunction is shown in Fig 4. However, no statistically significant p for interaction was found, showing that the correlation was independent of gender, age, BMI, hypertension, and diabetes (all p for interaction > 0.05). This suggests that the magnitude of the association is similar across populations.

We also did a subgroup study of the relationship between potassium intake and erectile dysfunction, which is shown in Fig 5. Similar to the subgroup analysis of the association between calcium intake and erectile dysfunction, we found a significant interaction for age (p for interaction <0.05). Furthermore, for each subgroup stratified by BMI and hypertension, there was a substantial negative correlation between potassium intake and erectile dysfunction. Furthermore, this significant inverse relationship was found in the Mexican American, non-Hispanic White, and no diabetes populations.

#### 4. Discussion

The aim of this study was to investigate the relationships of calcium, phosphorus and potassium intake with erectile dysfunction. By including 3,356 subjects in a cross-sectional study, we found that calcium, phosphorus, and potassium were all negatively associated with erectile dysfunction. To our knowledge, this is the first study to examine the relationships of dietary calcium, phosphorus, and potassium with erectile dysfunction.

Subgroup analysis	OR (95%CI)		<i>p</i> for interaction
Age (years)			0.1971
20-39	0.9994 (0.9990, 0.9998)		
40-59	0.9998 (0.9996, 1.0001)	<b>⊢</b>	
60-85	0.9996 (0.9994, 0.9999)		
Race			
Mexican American	0.9996 (0.9992, 1.0000)	<b>⊢</b>	0.4453
Other Hispanic	1.0004 (0.9995, 1.0013)	►I	
Non-Hispanic White	0.9998 (0.9996, 1.0000)	<b>⊢</b>	
Non-Hispanic Black	0.9996 (0.9991, 1.0001)	<b>⊢</b>	
Other Race	0.9999 (0.9986, 1.0012)	⊢I	
BMI (kg/m^2)			0.6837
16.01-25.62	0.9997 (0.9994, 1.0000)	<b>⊢</b>	
25.63-29.41	0.9998 (0.9994, 1.0001)	▶ <b>──</b> →	
29.43-64.97	0.9999 (0.9996, 1.0001)	<b>⊢</b> 4	
Hypertension			0.2707
Yes	0.9999 (0.9996, 1.0002)	<b>⊢</b>	
No	0.9997 (0.9995, 0.9999)	<b>⊢</b> ♦ <u>−</u> 1	
Diabetes			0.9433
Yes	0.9998 (0.9994, 1.0002)	►	
No	0.9998 (0.9996, 0.9999)	<b>⊢</b> ◆1	
		0.998 0.9985 0.999 0.9995 1 1.0005 1.001 1.0015	

Fig 4. Subgroup analysis for the association between phosphorus consumption and erectile dysfunction.

#### https://doi.org/10.1371/journal.pone.0297129.g004

Subgroup analysis	OR (95%CI)			<i>p</i> for interaction
Age (years)				0.0380
20-39	0.9997~(0.9995, 0.9999)		<b>└───</b> ◆──┤	
40-59	0.9999 (0.9998, 1.0001)		<b>⊢</b>	
60-85	0.9997 (0.9996, 0.9998)		<b>└──◆</b> ──1	
Race				
Mexican American	0.9997~(0.9995, 0.9999)		<b>└───</b>	0.5674
Other Hispanic	1.0000 (0.9996, 1.0004)		F	4
Non-Hispanic White	0.9999 (0.9998, 1.0000)		<b>⊢</b>	
Non-Hispanic Black	0.9999 (0.9996, 1.0001)		F	
Other Race	0.9997 (0.9991, 1.0003)	I	+	
BMI (kg/m^2)				0.8014
16.01-25.62	0.9999 (0.9997, 1.0000)		<b>└───</b> ◆──	
25.63-29.41	0.9998 (0.9996, 0.9999)		<b>⊢</b>	
29.43-64.97	0.9998 (0.9997, 1.0000)		<b>⊢_</b> ◆	
Hypertension				0.3325
Yes	0.9999 (0.9998, 1.0000)		<b>└─</b> ◆──	
No	0.9998 (0.9997, 0.9999)		<b>⊢</b> ◆1	
Diabetes				0.2499
Yes	0.9999 (0.9997, 1.0001)		<b>⊢</b>	
No	0.9998 (0.9997, 0.9999)			
		0.999	0.9995 1	1.0005

 $Fig \ 5. \ Subgroup \ analysis \ for \ the \ association \ between \ potassium \ consumption \ and \ erectile \ dysfunction.$ 

https://doi.org/10.1371/journal.pone.0297129.g005

Penile erectile dysfunction is a prevalent problem among males. A multitude of integrated systems, such as vascular, neurological, endocrine, and patient psychological systems, collaborate to ensure the optimal erection of the penis. If any of these pathways are disrupted, it results in the initiation and progression of erectile dysfunction. Of all these pathways, the most common cause of erectile dysfunction is of vascular origin [14,15]. Multiple studies have established the importance of inflammation and oxidative stress in the initiation and advancement of erectile dysfunction [16]. Endothelial damage and dysfunction occur due to an imbalance between substances that relax the endothelium and those that contract it, when there is an increase in oxidative stress and inflammation levels [17]. Vascular endothelial cells release nitric oxide (NO) and acetylcholine (ACh) in healthy men during sexual excitement. Ach can also enhance the synthesis of NO. The conversion of guanosine triphosphate (GTP) to cyclic guanosine monophosphate (cGMP) by NO leads to cellular hyperpolarization and relaxation of smooth muscles. This promotes blood circulation to the penis, causing the corpus cavernosum to fill with blood and resulting in a significant increase in intracorporeal pressure, leading to an erection [14]. Endothelial dysfunction diminishes the sensitivity of the vascular endothelium to NO, hence impairing its normal physiological function. Moreover, it has an impact on the release of ACh, which in turn affects the synthesis of NO [14,18]. Moreover, endothelial cells have the ability to produce tumor necrosis factor-alpha (TNF- $\alpha$ ) when exposed to inflammation and oxidative stress. TNF- $\alpha$  directly reduces the levels of nitric oxide (NO) while also stimulating the generation of reactive oxygen species (ROS) [14,19]. Based on prior investigations, erectile dysfunction is thought to be an early indicator of endothelial impairment. This also implies that its pathophysiological pathways may overlap with those involved in the development of certain cardiovascular diseases and that the presence of erectile dysfunction may raise the chance of developing cardiovascular diseases [20–23]. Therefore, a unified view of cardiovascular disease and erectile dysfunction helps us to better understand erectile dysfunction.

Calcium is abundant in dairy products, and our bodies rely on calcium intake to some extent [24]. Supplementing with calcium can lower the risk of atherosclerosis and stroke as well as overall mortality [25-27]. Moreover, an average daily consumption of 820 mg of calcium can reduce the risk of myocardial infarction by roughly 30%, according to a European prospective research study [28]. Although the exact mechanism is unknown, calcium has been shown to lower blood pressure in numerous studies. The mechanism may involve interactions between vitamin D and parathyroid hormone, which increase intracellular calcium levels and improve the responsiveness of vascular smooth muscle [29-31]. While previous studies have not investigated the relationship between dietary calcium consumption and erectile dysfunction, we hypothesized that consuming calcium reduces the occurrence of erectile dysfunction by protecting endothelial function, as indicated by the results of our study. Dietary calcium reduces vascular smooth muscle tone by down-regulating the activity of the renin-angiotensin system and improving sodium-potassium balance [32]. Additionally, calcium supplementation increases the concentration of calcium ions in the serum [33]. Calcium ions are essential for the production of vasoactive chemicals including NO and prostaglandins by vascular endothelial cells [34]. The reason for this could be the promotion of calcium-dependent mechanisms that activate the synthesis of endothelial nitric oxide synthase (eNOS), enhancing the bioavailability of NO in the vasculature, which can provide protection [35]. Austrian research has shown that calcium malnutrition impairs the activity of the extracellular calcium-sensitive receptor (CaSR). This impairment affects the K+ conductance channels in vascular endothelial cells, which in turn affects the regulation of vascular tone and arterial blood pressure and leads to vascular calcification [36]. However, it is important to remember that consuming too much

calcium may have detrimental effects on cardiovascular health [<u>37,38</u>]. Therefore, maintaining a calcium intake of 500–1,000 mg per day may be an appropriate choice [9].

Our bodies require phosphorus as a vital nutrient, and the main sources of phosphorus intake are cereals, meat, and dairy products [39]. Despite numerous ongoing experiments, consensus has not yet been reached regarding the relationship between phosphorus and vascular endothelial function. Although most evidence indicates that phosphorus induces endothelial damage by increasing oxidative stress and reducing NO levels [40]. Conversely, some have suggested that there is no significant association between the amount of phosphorus consumed in the diet and the development of atherosclerosis [41]. In addition, McClure et al.'s comprehensive study did not find a consistent association between blood pressure and the total phosphorus content in meals [39]. It is important to highlight that the majority of prior research has generally concentrated on those with chronic kidney disease, people with hyperphosphatemia, or those who consume an excessive amount of phosphorus. Only a limited number of research have investigated the general population with a normal dietary pattern. These reasons could be considered valid explanations for the existence of the currently controversial findings. Hence, it is imperative to conduct prospective research encompassing diverse healthy populations and fundamental investigations at the molecular level to gain a deeper understanding of the correlation between phosphorus and vascular endothelial function. The connection between dietary phosphorus and erectile dysfunction has not received much investigation, and our findings add to the body of knowledge in this regard. Specifically, erectile dysfunction was 33% less common in participants in the highest tertile of phosphorus intake than in those in the lowest tertile. A plausible rationale is that elevated phosphorus consumption modifies the synthesis of sodium-phosphorus cotransporter proteins, resulting in a surplus of phosphorus expelled relative to intake. This negative phosphorus equilibrium could potentially be crucial in averting endothelial damage [42]. Another theory suggests that phosphorus exists in the blood as an anion and that accompanying cations, such as calcium and magnesium ions, may increase NO and slow oxidative stress, helping to prevent endothelial damage and atherosclerosis [39]. We discovered no nonlinear association between dietary phosphorus intake and erectile dysfunction, despite claims that hyperphosphatemia exacerbates vascular calcification and atherosclerosis. This may be because dietary phosphorus consumption has only a tiny impact on blood phosphorus concentration, which rises by 0.03 mg/dL with a 500 mg phosphorus intake. Additionally, serum phosphorus has a diurnal variation, making it possible for serum phosphorus concentrations measured at various times of the day to differ [43]. Further research is required to determine the significance of dietary phosphorus to erectile dysfunction.

For humans, potassium is an essential substance obtained from dietary sources, mainly from fruits and vegetables, to meet the body's needs [44]. A systematic analysis by D'Elia et al. showed that increasing dietary potassium intake reduced the risk of stroke, coronary heart disease, and total cardiovascular disease [7]. Xie et al. showed a significant negative association between potassium intake and all-cause mortality based on a 10-year analysis of 143,050 individuals [45]. Our study also showed a negative correlation between dietary potassium and erectile dysfunction. Although the precise molecular processes by which dietary potassium improves erectile dysfunction are unknown, it is likely due to potassium's antioxidant and vascular endothelial-improving properties. First, dietary potassium raises arterial compliance and enhances endothelial function [46]. Potassium may do this by causing the vascular endothelial cytoskeleton to relax, which then triggers the release of NO [47]. Furthermore, dietary potassium lowers endothelin-1 levels, which may reverse endothelial dysfunction brought on by a high-salt diet, contributing to this positive effect [48]. Another theory holds that potassium stimulates a number of calcium channels and sodium-calcium exchangers in addition to

activating plasma membrane potassium channels and the sodium-potassium pump. These mechanisms then all contribute to causing endothelial cell hyperpolarization, which permits vasodilation [44]. Second, potassium promotes the relaxation of vascular smooth muscle by inhibiting the sympathetic nervous system by increasing norepinephrine uptake by nerve endings [49]. Furthermore, there is compelling evidence that potassium, via hyperpolarizationinduced suppression of nicotinamide adenine dinucleotide phosphate (NADPH) oxidase activation, lowers plasma lipid peroxidation and endosomal lipid extracts and prevents the body from producing reactive oxygen species and insulin resistance [44]. When there is a lack of testosterone in the body, the cavernous smooth muscle is replaced by collagen fibers, which may lead to venous occlusion dysfunction and fibrosis in the body [50]. Furthermore, the advantageous impacts of dietary potassium on erectile dysfunction may stem from potassium's capacity to enhance testosterone levels. Potassium has the potential to directly impact the production and release of testosterone by the cells in the testes, or it may have an indirect effect through the hypothalamic-thalamic axis [51]. Testosterone improves erectile function by affecting the nitriles responsible for vasodilation and phosphodiesterase-5, the enzyme responsible for cGMP degradation [52,53]. In conclusion, numerous robust studies have established that increasing dietary potassium intake considerably improves vascular endothelial function and testosterone levels and that these processes play an important role in the prevention of erectile dysfunction. It is important to keep in mind, nevertheless, that potassium consumption and blood pressure have a "U-shaped" relationship [54]. Therefore, it is advised that daily potassium consumption not exceed 3,800mg [55].

This study is subject to several limitations, notably its cross-sectional design, which hinders the ability to establish causal relationships. Erectile dysfunction in the subjects was assessed using questionnaires, which could potentially be influenced by recall bias. Furthermore, our study was exclusively carried out within the confines of the U.S. population, thereby raising uncertainty regarding the applicability of our results to people residing in other continents.

### 5. Conclusion

The primary outcome of this study was to formulate first ideas on the correlations of calcium, phosphorus, and potassium consumption with erectile dysfunction. Additional prospective studies are required to validate our findings.

### Supporting information

S1 Table. Relationships of calcium, phosphorus, and potassium intake with erectile dysfunction when used as continuous variables. (DOC)

S1 Data. Supporting information caption for file "original data.xls": Original data used for this cross-sectional study. (XLS)

#### **Author Contributions**

Data curation: Chen-Yuan Deng, Xu-Guang Guo.

Writing - original draft: Chen-Yuan Deng.

Writing - review & editing: Xin-Peng Ke, Xu-Guang Guo.

#### References

- 1. Yafi FA, Jenkins L, Albersen M, Corona G, Isidori AM, Goldfarb S, et al. Erectile dysfunction. Nature reviews Disease primers. 2016; 2:16003. https://doi.org/10.1038/nrdp.2016.3 PMID: 27188339
- Rew KT, Heidelbaugh JJ. Erectile Dysfunction. American family physician. 2016; 94(10):820–7. PMID: 27929275
- Selvin E, Burnett AL, Platz EA. Prevalence and risk factors for erectile dysfunction in the US. The American journal of medicine. 2007; 120(2):151–7. https://doi.org/10.1016/j.amjmed.2006.06.010 PMID: 17275456
- Nguyen HMT, Gabrielson AT, Hellstrom WJG. Erectile Dysfunction in Young Men Review of the Prevalence and Risk Factors. Sexual medicine reviews. 2017; 5(4):508–20. https://doi.org/10.1016/j.sxmr. 2017.05.004 PMID: 28642047
- Miner M, Kim ED. Cardiovascular disease and male sexual dysfunction. Asian journal of andrology. 2015; 17(1):3–4. https://doi.org/10.4103/1008-682x.143753 PMID: 25532581
- Defeudis G, Mazzilli R, Tenuta M, Rossini G, Zamponi V, Olana S, et al. Erectile dysfunction and diabetes: A melting pot of circumstances and treatments. Diabetes/metabolism research and reviews. 2022; 38(2):e3494. https://doi.org/10.1002/dmrr.3494 PMID: 34514697
- D'Elia L, Barba G, Cappuccio FP, Strazzullo P. Potassium intake, stroke, and cardiovascular disease a meta-analysis of prospective studies. Journal of the American College of Cardiology. 2011; 57 (10):1210–9. https://doi.org/10.1016/j.jacc.2010.09.070 PMID: 21371638
- Myung SK, Kim HB, Lee YJ, Choi YJ, Oh SW. Calcium Supplements and Risk of Cardiovascular Disease: A Meta-Analysis of Clinical Trials. Nutrients. 2021; 13(2). <u>https://doi.org/10.3390/nu13020368</u> PMID: 33530332
- Reid IR, Bristow SM, Bolland MJ. Calcium supplements: benefits and risks. Journal of internal medicine. 2015; 278(4):354–68. https://doi.org/10.1111/joim.12394 PMID: 26174589
- Qin Z, Yang Q, Liao R, Su B. The Association Between Dietary Inflammatory Index and Parathyroid Hormone in Adults With/Without Chronic Kidney Disease. Frontiers in nutrition. 2021; 8:688369. <u>https:// doi.org/10.3389/fnut.2021.688369</u> PMID: 34249998
- Yu H, Tao Z, Luo X, Huang B, Zhou L. Role of metabolic equivalent between calcium intake and vertebral fractures: a cross-sectional study of NHANES 2013–2014. BMC geriatrics. 2022; 22(1):986. <u>https://</u> doi.org/10.1186/s12877-022-03666-4 PMID: 36539709
- Lopez DS, Wang R, Tsilidis KK, Zhu H, Daniel CR, Sinha A, et al. Role of Caffeine Intake on Erectile Dysfunction in US Men: Results from NHANES 2001–2004. PloS one. 2014; 10(4):e0123547. <u>https:// doi.org/10.1371/journal.pone.0123547</u> PMID: 25919661
- Cao S, Hu X, Shao Y, Wang Y, Tang Y, Ren S, et al. Relationship between weight-adjusted-waist index and erectile dysfunction in the United State: results from NHANES 2001–2004. Frontiers in endocrinology. 2023; 14:1128076. https://doi.org/10.3389/fendo.2023.1128076 PMID: 37181040
- De Leonardis F, Colalillo G, Finazzi Agrò E, Miano R, Fuschi A, Asimakopoulos AD. Endothelial Dysfunction, Erectile Deficit and Cardiovascular Disease: An Overview of the Pathogenetic Links. Biomedicines. 2022; 10(8). https://doi.org/10.3390/biomedicines10081848 PMID: 36009395
- MacDonald SM, Burnett AL. Physiology of Erection and Pathophysiology of Erectile Dysfunction. The Urologic clinics of North America. 2021; 48(4):513–25. https://doi.org/10.1016/j.ucl.2021.06.009 PMID: 34602172
- Huang Y, Wang Y, Su H, Wang H, Xu H, Xu C, et al. Association between polyunsaturated fatty acid intake and the prevalence of erectile dysfunction: A cross-sectional analysis of the NHANES 2001– 2004. Lipids in health and disease. 2023; 22(1):182. https://doi.org/10.1186/s12944-023-01950-9 PMID: 37880723
- Wang L, Cheng CK, Yi M, Lui KO, Huang Y. Targeting endothelial dysfunction and inflammation. Journal of molecular and cellular cardiology. 2022; 168:58–67. <u>https://doi.org/10.1016/j.yjmcc.2022.04.011</u> PMID: 35460762
- Endemann DH, Schiffrin EL. Endothelial dysfunction. Journal of the American Society of Nephrology: JASN. 2004; 15(8):1983–92. https://doi.org/10.1097/01.Asn.0000132474.50966.Da PMID: 15284284
- Neumann P, Gertzberg N, Johnson A. TNF-alpha induces a decrease in eNOS promoter activity. American journal of physiology Lung cellular and molecular physiology. 2004; 286(2):L452–9. https://doi.org/ 10.1152/ajplung.00378.2002 PMID: 14555463
- 20. Shamloul R, Ghanem H. Erectile dysfunction. Lancet (London, England). 2013; 381(9861):153–65. https://doi.org/10.1016/S0140-6736(12)60520-0 PMID: 23040455

- Nehra A, Jackson G, Miner M, Billups KL, Burnett AL, Buvat J, et al. Diagnosis and treatment of erectile dysfunction for reduction of cardiovascular risk. The Journal of urology. 2013; 189(6):2031–8. <u>https://</u> doi.org/10.1016/j.juro.2012.12.107 PMID: 23313195
- Konstantinovsky A, Tamir S, Katz G, Tzischinsky O, Kuchersky N, Blum N, et al. Erectile Dysfunction, Sleep Disorders, and Endothelial Function. The Israel Medical Association journal: IMAJ. 2019; 21 (6):408–11.
- Mesa F, Arrabal-Polo MA, Magan-Fernandez A, Arrabal M, Martin A, Muñoz R, et al. Patients with periodontitis and erectile dysfunction suffer a greater incidence of major adverse cardiovascular events: A prospective study in a Spanish population. Journal of periodontology. 2022; 93(8):1233–42. <u>https://doi.org/10.1002/JPER.21-0477 PMID: 34889466</u>
- 24. Shkembi B, Huppertz T. Calcium Absorption from Food Products: Food Matrix Effects. Nutrients. 2021; 14(1). https://doi.org/10.3390/nu14010180 PMID: 35011055
- 25. Anderson JJ, Kruszka B, Delaney JA, He K, Burke GL, Alonso A, et al. Calcium Intake From Diet and Supplements and the Risk of Coronary Artery Calcification and its Progression Among Older Adults: 10-Year Follow-up of the Multi-Ethnic Study of Atherosclerosis (MESA). Journal of the American Heart Association. 2016; 5(10). https://doi.org/10.1161/JAHA.116.003815 PMID: 27729333
- Raffield LM, Agarwal S, Cox AJ, Hsu FC, Carr JJ, Freedman BI, et al. Cross-sectional analysis of calcium intake for associations with vascular calcification and mortality in individuals with type 2 diabetes from the Diabetes Heart Study. The American journal of clinical nutrition. 2014; 100(4):1029–35. <a href="https://doi.org/10.3945/ajcn.114.090365">https://doi.org/10.3945/ajcn.114.090365</a> PMID: 25099552
- 27. Pana TA, Dehghani M, Baradaran HR, Neal SR, Wood AD, Kwok CS, et al. Calcium intake, calcium supplementation and cardiovascular disease and mortality in the British population: EPIC-norfolk prospective cohort study and meta-analysis. European journal of epidemiology. 2021; 36(7):669–83. https://doi.org/10.1007/s10654-020-00710-8 PMID: 33382441
- Li K, Kaaks R, Linseisen J, Rohrmann S. Associations of dietary calcium intake and calcium supplementation with myocardial infarction and stroke risk and overall cardiovascular mortality in the Heidelberg cohort of the European Prospective Investigation into Cancer and Nutrition study (EPIC-Heidelberg). Heart (British Cardiac Society). 2012; 98(12):920–5. <u>https://doi.org/10.1136/heartjnl-2011-301345 PMID: 22626900</u>
- Tankeu AT, Ndip Agbor V, Noubiap JJ. Calcium supplementation and cardiovascular risk: A rising concern. Journal of clinical hypertension (Greenwich, Conn). 2017; 19(6):640–6. <a href="https://doi.org/10.1111/jch.13010">https://doi.org/10.1111/jch.13010</a> PMID: 28466573
- **30.** Dickinson HO, Nicolson DJ, Cook JV, Campbell F, Beyer FR, Ford GA, et al. Calcium supplementation for the management of primary hypertension in adults. The Cochrane database of systematic reviews. 2006;(2):Cd004639. https://doi.org/10.1002/14651858.CD004639.pub2 PMID: 16625609
- Cormick G, Ciapponi A, Cafferata ML, Belizán JM. Calcium supplementation for prevention of primary hypertension. The Cochrane database of systematic reviews. 2015;2015(6):Cd010037. https://doi.org/ 10.1002/14651858.CD010037.pub2 PMID: 26126003
- Wang L, Manson JE, Sesso HD. Calcium intake and risk of cardiovascular disease: a review of prospective studies and randomized clinical trials. American journal of cardiovascular drugs: drugs, devices, and other interventions. 2012; 12(2):105–16. https://doi.org/10.2165/11595400-00000000-00000 PMID: 22283597
- López-Jaramillo P. Calcium, nitric oxide, and preeclampsia. Seminars in perinatology. 2000; 24(1):33– 6. https://doi.org/10.1016/s0146-0005(00)80052-x PMID: 10709856
- Lopez-Jaramillo P, Gonzalez MC, Palmer RM, Moncada S. The crucial role of physiological Ca2+ concentrations in the production of endothelial nitric oxide and the control of vascular tone. British journal of pharmacology. 1990; 101(2):489–93. https://doi.org/10.1111/j.1476-5381.1990.tb12735.x PMID: 2257446
- Querio G, Antoniotti S, Geddo F, Levi R, Gallo MP. Trimethylamine N-Oxide (TMAO) Impairs Purinergic Induced Intracellular Calcium Increase and Nitric Oxide Release in Endothelial Cells. International journal of molecular sciences. 2022;23(7). https://doi.org/10.3390/ijms23073982 PMID: 35409341
- Peterlik M, Kállay E, Cross HS. Calcium nutrition and extracellular calcium sensing: relevance for the pathogenesis of osteoporosis, cancer and cardiovascular diseases. Nutrients. 2013; 5(1):302–27. https://doi.org/10.3390/nu5010302 PMID: 23340319
- Anderson JJ, Klemmer PJ. Risk of high dietary calcium for arterial calcification in older adults. Nutrients. 2013; 5(10):3964–74. https://doi.org/10.3390/nu5103964 PMID: 24084054
- Bolland MJ, Avenell A, Baron JA, Grey A, MacLennan GS, Gamble GD, et al. Effect of calcium supplements on risk of myocardial infarction and cardiovascular events: meta-analysis. BMJ (Clinical research ed). 2010; 341:c3691. https://doi.org/10.1136/bmj.c3691 PMID: 20671013

- McClure ST, Rebholz CM, Medabalimi S, Hu EA, Xu Z, Selvin E, et al. Dietary phosphorus intake and blood pressure in adults: a systematic review of randomized trials and prospective observational studies. The American journal of clinical nutrition. 2019; 109(5):1264–72. https://doi.org/10.1093/ajcn/ nqy343 PMID: 31051505
- **40.** Watari E, Taketani Y, Kitamura T, Tanaka T, Ohminami H, Abuduli M, et al. Fluctuating plasma phosphorus level by changes in dietary phosphorus intake induces endothelial dysfunction. Journal of clinical biochemistry and nutrition. 2015; 56(1):35–42. https://doi.org/10.3164/jcbn.14-96 PMID: 25678749
- Houston J, Smith K, Isakova T, Sowden N, Wolf M, Gutiérrez OM. Associations of dietary phosphorus intake, urinary phosphate excretion, and fibroblast growth factor 23 with vascular stiffness in chronic kidney disease. Journal of renal nutrition: the official journal of the Council on Renal Nutrition of the National Kidney Foundation. 2013; 23(1):12–20. https://doi.org/10.1053/j.jrn.2011.12.009 PMID: 22406119
- 42. Tani Y, Sato T, Yamanaka-Okumura H, Yamamoto H, Arai H, Sawada N, et al. Effects of prolonged high phosphorus diet on phosphorus and calcium balance in rats. Journal of clinical biochemistry and nutrition. 2007; 40(3):221–8. https://doi.org/10.3164/jcbn.40.221 PMID: 18398500
- 43. Gutiérrez OM. The connection between dietary phosphorus, cardiovascular disease, and mortality: where we stand and what we need to know. Advances in nutrition (Bethesda, Md). 2013; 4(6):723–9. https://doi.org/10.3945/an.113.004812 PMID: 24228204
- Ekmekcioglu C, Elmadfa I, Meyer AL, Moeslinger T. The role of dietary potassium in hypertension and diabetes. Journal of physiology and biochemistry. 2016; 72(1):93–106. https://doi.org/10.1007/s13105-015-0449-1 PMID: 26634368
- Kwon YJ, Lee HS, Park G, Lee JW. Association between dietary sodium, potassium, and the sodiumto-potassium ratio and mortality: A 10-year analysis. Frontiers in nutrition. 2022; 9:1053585. https://doi. org/10.3389/fnut.2022.1053585 PMID: 36438773
- 46. He FJ, Marciniak M, Carney C, Markandu ND, Anand V, Fraser WD, et al. Effects of potassium chloride and potassium bicarbonate on endothelial function, cardiovascular risk factors, and bone turnover in mild hypertensives. Hypertension (Dallas, Tex: 1979). 2010; 55(3):681–8. https://doi.org/10.1161/ HYPERTENSIONAHA.109.147488 PMID: 20083724
- Oberleithner H, Callies C, Kusche-Vihrog K, Schillers H, Shahin V, Riethmüller C, et al. Potassium softens vascular endothelium and increases nitric oxide release. Proceedings of the National Academy of Sciences of the United States of America. 2009; 106(8):2829–34. <u>https://doi.org/10.1073/pnas.0813069106</u> PMID: 19202069
- Liu Z, Peng J, Lu F, Zhao Y, Wang S, Sun S, et al. Salt loading and potassium supplementation: effects on ambulatory arterial stiffness index and endothelin-1 levels in normotensive and mild hypertensive patients. Journal of clinical hypertension (Greenwich, Conn). 2013; 15(7):485–96. https://doi.org/10. 1111/jch.12109 PMID: 23815537
- 49. Haddy FJ, Vanhoutte PM, Feletou M. Role of potassium in regulating blood flow and blood pressure. American journal of physiology Regulatory, integrative and comparative physiology. 2006; 290(3): R546–52. https://doi.org/10.1152/ajpregu.00491.2005 PMID: 16467502
- Shen ZJ, Zhou XL, Lu YL, Chen ZD. Effect of androgen deprivation on penile ultrastructure. Asian journal of andrology. 2003; 5(1):33–6. PMID: 12647000
- Sánchez-Capelo A, Cremades A, Tejada F, Fuentes T, Peñafiel R. Potassium regulates plasma testosterone and renal ornithine decarboxylase in mice. FEBS letters. 1993; 333(1–2):32–4. https://doi.org/ 10.1016/0014-5793(93)80369-6 PMID: 8224166
- Traish AM, Park K, Dhir V, Kim NN, Moreland RB, Goldstein I. Effects of castration and androgen replacement on erectile function in a rabbit model. Endocrinology. 1999; 140(4):1861–8. <u>https://doi.org/ 10.1210/endo.140.4.6655</u> PMID: 10098525
- Shabsigh R, Rajfer J, Aversa A, Traish AM, Yassin A, Kalinchenko SY, et al. The evolving role of testosterone in the treatment of erectile dysfunction. International journal of clinical practice. 2006; 60 (9):1087–92. https://doi.org/10.1111/j.1742-1241.2006.01101.x PMID: 16939550
- 54. Filippini T, Naska A, Kasdagli MI, Torres D, Lopes C, Carvalho C, et al. Potassium Intake and Blood Pressure: A Dose-Response Meta-Analysis of Randomized Controlled Trials. Journal of the American Heart Association. 2020; 9(12):e015719. https://doi.org/10.1161/JAHA.119.015719 PMID: 32500831
- Weaver CM. Potassium and health. Advances in nutrition (Bethesda, Md). 2013; 4(3):368s–77s. <a href="https://doi.org/10.3945/an.112.003533">https://doi.org/10.3945/an.112.003533</a> PMID: 23674806